RA SEOTRERE A2, BAA A RAod |
o ABTRALALN BB, Bibde LA LAMA Y

Al i s ¥ IS
S AERKARA KD RRE |

AFIZOAIHOHLRARY, THA L0 |

BAIRGE#N#ABEE)FUGHE,
%% B /m
B 00O —
7000} —
6000}
5000}
4000f
3000}

2 000}_%
1000F—

5 12—

£ 355° 360° 365° 37.0° 37.5° 38.0° 385 3.0°N
T — ) (R AR K, )

-9— FWHK/C @ - il = R

P14 T4 20 B 6 T e JEARRE TSR

SHERILEHH ).
ER:ZEANMT.

% ¥ /m

B(XX)_ W e ————re—
7 000} S =
6 000 y =

SMP_ I3 . 2
4 000F
3 000} pp 4 e
2 000f_ s e
1 000!

O s [ 7"92 ——
35.5° 360° 365° 37.0° 37.5° 38.0° 38.5° 39.0°N
. ?mﬂmmﬁ(&:ﬂﬁﬂ*,ﬁf]ﬂ*)

-9— S@|AC GmZzEF
ﬂﬁ:m*”ﬁ]ﬁ%ﬂkl%@#ﬁ#fhﬁ%ﬁ?$'ﬂ!ﬁ
mﬁﬁlﬁ,é\#ﬁ&.%&%ﬂ.#ﬁ:%ﬁisz;'M\%

A, @A RARAA, B P &) A AR 4 @2 AR

A2 HBH—7 haERE RGBT,
3, iR SCH R SEL T AU ER .

TR Z AL XY Ry

HIA A, I AR AR b, i 46 & A RARAK
Ko, % T AR, K Y T AR EARBL
TR PR e B E A R 23 AR
W, AR R RG R R AR AT T, TEA
ENAH ARG HSFHE K FEA,

108° E
\
,“F_\"I 075$ \\
______________ 10 SEN = i
o Py e — Bl
A 7. - AL/
RN s

L6 FE , FTI 2 th 0 P T 4 L P AR D
M.

HER /m
Y 11—

1050

1025
N

1000 = N BRI
\

ERLEMT

HER /m
1075

1050 4-%-
10254

1000

R 20 @RI 6 T A AR
- BIESSLELEESAEELESNESE RS S
L AR ARE W AT R B KR B B e AR A 2 5] AR
PN rE Te S DTN FLAEL S L el AL 4 5] AR
AR RS 60 4100 S S8 = A
o UM LR AL AT R S i, i
A A K B S A A AR ¥
S B AR L, T2 T g Ko U, 2 TR
EA TR LR K, — A AL A
Ak g E TR 6

PG AT 60 i A B B AR K AR AR ) TR 699

T 0 A T o ) 0 3 69 F B, B 0 T I EE b
IR T A 5 R AAKT b 1 IR TR 89 %

Bot—% pmikw 545




